9 W -Ra®l o1 Wid a9 96 9 @i W4 a@ e 9 oY

59 gRasT ¥ 32 g &
#Is /Code

This Booklet contains 32 pages

CET-2023

FOR CLASS IX FOR ACADEMIC SESSION 2023-24

ye—gfasT Hwar / Question Booklet No.:

I@®Aie (==l #) /Roll No. (in words)

aqgwai® (3F' ¥)/Roll No. (in digits)

34529

feffRa a9 : 2.30 g2
Time Allowed : 2.30 Hours

Ifersay e : 200
Maximum Marks 200

T B SR 39 @ fAy Bad @ dd-@ge W BT RS B | ARG BT 3R T 3
Use Black Ball-Point Pen only for marking the responses. Do not use pencil.
Igeff ITR-YAS W S 37 A ved W Rl @ wEwrh @ de g o |
Candidate must read all the instructions carefully before marking the responses.
HUB! JET B I DA IIR-—TFD W & 37 F)

You have to mark your answers on OMR Answer-Sheet only.

TN B SUR ALGHAR. SIS FOEd B ater € |
After the examination is over, hand-over the OMR Answer-Sheet to the invigilator.

wEaqel Irgew
1. Oty gdefons & v Wi ol & SRR 2

zsgw—gﬁaaﬂﬁ@azoom% for FeferRea &=
HIT &

-1 @ UG (50 W)

HIT—2 : |HEF S04 (50 9¥H)

A3 : T / gfEwar whem (75+25 weH)

3.aﬂ%m.m—mwf&qngwwmaﬂm

TH, eI AP, TET—IRIBT , .

EEE S IS AT HET AP PN S0 TER—TF P

Wﬁ%maﬂvwﬁﬁﬁeﬁmmﬁaﬁ
|

4. UF HE B IR ddfeud Sur Ry v # | apueff @)
H9e Teh 7ol AT §96] Bl SR—% W dfe—arge U
T IR BT FY S| OB 9 3f® IR Ao 3 @ aen A
79 & SR BN AT AT GG T I AT T8 S |

5. 7% B 39 ge-gRaar ¥ PR e w & &)

E ST WX AUl gBR @ e ¥ ®ReTR 9 <
T B FANT A SE qE "

T SRS Hadmecy AR Aag fe BT WART F @
ST A8 B

2 SOE WA U ST SO e -GRAST of S Fhdl

Ay

1

2 T RIS TeieE e 81|

Important Instructions

1. All the questions are multiple-choice type anc
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ENGLISH

Directions for Q1 to Q20 : Fill in the blanks.
Q1. --—-meeeen waters run deep:

(A) Black

(B) Light

(C) still

(D) Violent

Q2. When the accident took place, suddenly one
of the wheels came ---------—- :

(A) Out

(B) off

(C) Through

(D) Down

Q3. e Andamans are a group of islands
in the Bay of Bengal.

(A) The

(B) A

(C) On

(D} An

Q4.1 will go myself. Myself is ~---=-- pronoun.
(A) Emphatic
(B) Reflexive
{C) Normal pronoun
(D) None of these

Q5. We always like boys -------- speak the truth.
(A) Which -
(B) Who
(C) They
(D) None of these

Q6. Do the same -=--------- | do.
(A) As
(B) Which
{C) When
(D) None of these

Q7. He is the very man - - we want.
(A) Which
(B) Whom
(C) As
(D) It

Q8. Hari is ------- than Ram.
(A} Junior
(B) Senior
(C) Shorter
(D) Inferior

(3)

Q9. Being Stepfather, he showed «----ree---
concerned for his son.

(A) A little

(B) The little

(C) Little

(D) None of these

Q10. The dog is jumping -------=--- the table.
(A) On
(B) Upon
(C) At
(D) None of these

Q11. The river flows ----—- the bridge.
(A) Under
(B) Within
(C) at
(D) None of these

Q12. He is married -—---—-- my cousin.
(A)With
(B) To
(C) Of
(D) None of these

Q13. We should rely ----- our own efforts.
(A) To
(B) At
(C) With
(D) On

Q14. | insisted ---------—-- going.
(A) For
(B) To
(C) On
(D) With

Q15. He is vain —----- his attainments.
(A) To
(B) For
(C) From
(D) Of

Q16. | often find him absorbed-------- -- thought.
(A) In
(B) From
(C) With
(D) At
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Q17. In this city there is no Library to ------------
(A) Speak out
(B) Speak of
(C) Speakin
(D) None of these

Q18. Don’t put all your -—----- in one basket.
(A) Cash
(B) Clothes
(C) Eggs
(D) Toys

Q19. We will cross the bridge when we ------—-- to
it.

(A) Jump

(B) Drown

(C) Come

(D) None of these

Q20. A penny saved is a penny --=-s==s==-m-mmeemm
(A) Lost
(B) Spoiled
(C) Wasted
(D) Earned

Directions for Q21 to Q25: Read the passage
carefully and answer the question the follows.
The beginning of this fun filled season with the
sun hidden behind the grey clouds brings cheer to
many of us waiting eagerly to splash in the rains.
Of course, not everything about rain is
glamourous. Especially when you think about
endless traffic jams, the bad roads dotted with
potholes, uncleared garbage and the spate of
water borne diseases. Also, viral infections like
cold and cough make their presence felt.

Most infectious diseases prevalent in the rainy
season can be prevented by simply washing our
hands regularly. Scrubbing hands regularly with
water and soap can prevent us from contacting
respiratory and diarrheal diseases.

Kids have a lower level of immunity and hence
hand washing becomes a crucial part of their
lifestyle. When playing especially during monsoon
season kids come into contact with germs and
can unknowingly become infected simply by
touching their nose, eyes or mouth. The Food and
Drug Administration states that the human

(4)

influenza virus can survive on surfaces for upto
eight hours, making people susceptible to
catching it each time they touch the infected
surface. Hence repeated hand washing is
required. To make the best of the rainy season,
we should follow some simple guidelines. First of
all, if we decide to get wet in rains, we should
change into a dry set of clothes at the earliest.
Also, we should keep raw food items at bay and
wash vegetables and fruits thoroughly before
use. Moreover, strict kitchen hygiene should be
maintained in order to enjoy one of the most
beautiful seasons of the year. Also, in order to
have trouble free rainy season home made fresh
food should be given preference over the fast
food sold in the market.

Q21. People wait for the rains since they can ------

(A) Splash

(B) Have potholed roads
(C) Water borne diseases
(D) Endless traffic jams

Q22. After getting wet in rains, we should put on
dry clothes -------—-,

(A) As late as possible

(B) Whenever we like to

(C) When we fall sick

(D) As early as possible

Q23.Besides maintaining kitchen hygiene, we
should ------==-=n-meenv so as to keep us disease free
in the rainy season.

(A) Avoid raw fruits

(B) Enjoy raw fruits

(C) Avoid vegetables

(D) Consume more fruits and vegetables

Q24. The passage suggests that small children
should wash their hands -------- in the rainy
season since they have lower immunity.

(A) Frequently J

(B) Rarely

(C) After every meal

(D) Before every meal
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Q25. The word in the passage which means the
same as ‘Prone and vulnerable’ is -------

(A} Dotted

(B) Hygiene

{(C) Susceptible

(D) Influenza

Directions for Q26 to Q32: Select the Meaning of
the given Word/Phrase.

Q26. A fleet —
(A) A collection of people
(B) A collection of soldiers
(C) A collection of cars
(D) A collection of ships or vessels

Q27. Omniscient —
(A) All powerful
(B) Present everywhere
(C) Knowing everything
(D) All of these

Q28. Precarious —
(A) Preventive
(B) Dangerous
(C) Lazy
(D) None of these

Q29. “A show-stopper” -
(A) Someone who stops the show
(B) Someone who organizes the show
(C) Extremely good performance
(D) A fashionable person

Q30. “The gift of the gab” -
(A) Ability to speak easily and confidently
(B) Ability to spoil something
(C) Ability to sell things
(D) Gift from a sacred institution

Q31. “Give the benefit of doubt” -
(A) To be partial to someone
(B) To be judgmental
(C) Regard someone as innocent until proven
otherwise
(D) Say something exactly right.

(5)

Q32. “Cry over spilt milk” -
(A) Complaining about a loss in the past
(B) Too much curious about something
(C) to do something to save money
(D) Dealing with an emergency

Directions for Q33 to Q34: Select the One Word
Substitute.

Q33. One who feeds on human flesh,
(A) wild
(B) Unsocial
(C) Uncivilized
(D) Cannibal

Q34. A room or building for sick children in a
boarding school.

(A) Hostel

(B) Sanatorium

(C) Library

(D) None of these

Directions for Q35 to Q39 : Select the Opposite
of the given Word.

Q35. Laconic -
(A) Voluble
(B) Jealous
(C) Exhausted
(D) Timid

Q36. Inert —
(A) Active
(B) Lazy
(C) Strong
(D) Resolute

Q37. Reluctant —
(A) Optimistic
(B) unwilling
(C) Enthusiastic
(D) Excited

Q38. Adore -
(A) Discuss
(B) Check
(C) Benefit
(D) Condemn
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Q39. Candid —
(A) Biunt
(B} Gaurded
(C} Sincere
{D) Unconventional

Directions for Q40 to Q44 : Select the Synonym
of the given Word.

Q40. Allegiance —
(A) Servility
(B) Obedience
(C) Loyalty
(D) Passivity

Q41. Pessimistic —
(A) Indifferent
(B) Ascetic
(C) Unsettle
(D) Not hopeful

Q42. Benediction —
(A} Good wishes
(B) Blessings
(C) Punishment
(D) Appreciation

Q43. Pragmatic —
(A) Practical
(B) Playful
(C) Casual
(D) Clever

Q44. Verdict -
(A) Prediction
(B) Voice
(C) Outcome
(D) Judgment

Directions for Q45 to Q50: Correct the Underline
portion.

Q45. | went to the shop to buy some stationeries.
(A) Stationery

(B) Stationary

(C) Stationarics

(D) None of these

Q46. Had she been hungry, she would have eaten
whole lot of it.

(A) Unless she had been hungry

(B) However, she had been hungry

(C) As if she had been hungry

(D) noimprovement

Q47. The names of the defaulters have been cut
off.

(A) Cut out

(B) Struck out

(C) Struck off

(D) No improvement

Q48. The meeting has been put off to next Friday.
(A) Puton
(B) Putout
(C) Putfor
(D) No improvement

Q49. | have been waiting here for the last two
hours.

(A) From

{B) Since

(C) By

(D) No improvement

Q50. We ought to stand for what is right.
(A) Stand at
(B) Stand on
(C) Stand up
(D) No improvement
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51.

52.

53.

54,

55.

56.

GENERAL KNOWLEDGE

When was Bharat Drone Mahotsav 2022
celebrated -

(A) May 27

(B) Apr 27

(C) June 27

(D) Apr 17

Which country has adopted Bitcoin as an
official currency ?

(A) England

(B) France

(C) Japan

(D) Central African Republic

Who is the Cabinet Minister for Civil
Aviation ?

(A) Ramchandra Prasad Singh

(B) Kiren Rijiju

(C) Jyotiraditya Scindia

(D) Giriraj Singh

Who is the Chief Justice of India ?
(A) S K Kaul

(B) S A Nazeer

(C) R Bindal

(D) DY Chandrachud

Vasco-da-Gama reached the port of
in 1498.

(A) Calicut

(B) Daman

(C) Salsette

(D) Bombay

What is the popular name of Dadabhai
Naoroji ?

(A) Jawan

(B) Sparrow

(C) Babuiji

(D) Grand Old man

7)

51. ST SIF HEeEa 2022 % T T -
(A) 2798

(B) 27 309

(C) 275

(D) 17 30

52. farw 31 3 farewmtea 1 onfoemf g F &0
ST 22

(A) §<TS

(B) Wi

(C) ST

(D) He 3rshieht MRS

53. ATTHEH I F Hee Wl 9 &
(A) TreE e e

(B) foror ey

(C) safofees fafirmn

(D) firferst fm

54, WA % W& SATATET S 87
(A) T8 & Fia

(B) T8 T A

(C) o felga

(D)t arg ===

55. ARERI-ETET 1498W _ HEETIR W
qgaT AT |

(A) FreftRe

(B) T

(C) TTede

(D) S

56. TETWTE ATt T SIS ATH F1 8 2
(A) SEM
(B) @

(C) aagsft
(D) ¥z e B9
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57.

58.

59.

61.

62.

Where is the headquarters of
Archaeological Survey of India ?
(A) New Delhi

(B) Kolkata

(C}) Mumbai

(D) Pune

Which planet is known as “Green Planet”?
(A) Earth

(B) Venus

(C) Jupiter

(D) Uranus

Which Ocean has the deepest point ?
(A) Atlantic

(B) Indian

(C) Pacific

(D) Artic

. Radcliffe line is in between India &

(A) China

(B) Pakistan
(C) Nepal

(D) Bangladesh

Which is the First Greenfield Airport in

North-East region ?

(A) Lokpriya Gopinath Bordoloi
International Airport

(B) Pakyong Airport

(C) Kempegowda International Airport

(D) Netaji Subhash Chandra Bose
International Airport

Dudhwa National Park is located in -
(A) Uttar Pradesh

(B) Uttarakhand

(C) Bihar

(D) Madhya Pradesh

(8)

57. WY QIS HALOT 1 JEATTT Fl & 7
(A) 7% fawstt

(B) SieTrar

(C) 4w§

D)7

58. rame @ “gfm we” Fam A T ST R 2
(A) et

(B) T

() gewafa

(D) F&8

59. werd e farg form TR A @ 2
(A) reaifen

(B)

(C) SR

(D) 3mehfesh

60. TeferTeE vEm T ot Fefa R
(A) =

(B) urfeFeam

(C) Aaret

(D) st

61. I-IH & %1 TeeT Mhies gaTs orger F9 a1
L 44

(A) SireHf TirdTy SRR stawrga T argeEr

(B) WTeHAIT BATE 3TEE

(C) FFTST ST 7T Tge

(D) aTsft gaTY <5 T ST gars sTget

62. FEET T AT el R 22
(A) FT H_T

(B) Swr@E

(C) forem

(D) 7T SR
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63. Capital of Myanmar is —
(A) Algiers
(B) Thimpu
(C) Bogota
(D) Nay Pyi Taw

64. Army Day is celebrated on —
(A) 15 Jan
(B) 15 Mar
(C) 08 Oct
(D) 04 Dec

65. World’s Teachers day is celebrated on -
(A) 02 Oct
(B) 03 Oct
(C) 04 Oct
(D) 05 Oct

66. International Women'’s day is celebrated
on-
(A) 08 Mar
(B) 08 Apr
(C) 08 May
(D) 08 June

67. Which is not an Endocrine gland ?
(A) Pituitary
(B) Peripheral
(C) Adrenal
(D) Pancreas

68. A disease caused by a virus —
(A) Cholera
(B) Tuberculosis
(C) Leprosy
(D) Chicken Pox

-

(9)

63, FITAT i ToUE R 2
(A) sresfrad

(B) foig_

(C) sz

(D) 7/ ff ar =

64, A Fare el W ST R 2
(A) 15 S

(B) 15 9T=t

(C) 08 3THH

(D) 04 fewsr

65. Farer Rveren Forare et wama ST 22

(A) 02 3T
(B) 03 ST
(C) 04 3T

(D) 05 SFFH

66, Ftetera e fm e waT SR ?
(A) 08 Tl

(B) 08 319

(C) 08 ¢

(D) 08 S

67. FrA-dt ot e afr T 2 2
(A) forggedt

(B) gftefig

(C) stfaaa®

(D) =

68. o & & e A
(A) &

(B) & T

(©) FBIm

(D) faer disd
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69.

70.

71.

72.

73.

74,

Longest muscle in human body is -
(A) Biceps

(B) Sartorius

(C) Triceps

(D) Rectus Femoris

Who is the Father of Medicine ?
(A) Theophrastus

(B) Hippocrates

(C) Aristotle

(D) None of these

Author of “Mudrarakshasa” —
(A) Hemachandra

(B) Ballal

(C) Vishakhadatta

(D) Padmagupta

Yeastisa—
(A) Algae
(B) Bacteria
(C) Fungus
(D) Protozoa

Longest human bone —
(A) Femur

(B) Forearm boné

(C) Sternum

(D) Girdle bone

Which of the following gas is not a Green
House gas ?

(A) Carbon dioxide

(B) Methane

(C) Argon

(D) Chlorofluorocarbon

(10)

69. wa T Y wad il aigush @ -
(A) s

(B) i

(C) TREw

(D) Fed wHife

70, e FE TAw P E 2
(A) fertirey

(B) fewimred

(C) ifediea

(D) &7 & %r$ T

71, WERTERR % Tafdar -
(A) B

(B) SeeTTe

(C) Tormames

(D) w=IH

72. W T2
(A) Trare
(B) srFifen

(C) T%e
(D) Srersitam

73. WS o we el aget -
(A) 6

(B) wars I ggdt

(C) &=

(D) aFH

74, Frafafas & & #7 df g fiv ega e adfi
(A) FTaT ST33TTaaTES

(B) Ho

(C) s _

(D) FARIGARFTET
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75. Buoyancy is a/an
(A) Upward pressure
(B) Downward pressure
(C) Downward force
(D) Upward force

76. The first Lokpal Bill introduced in
Parliament in —
(A) 1968
(B) 1967
(C) 1971
(D) 1972

77. Wellington trophy is associated with
which game ?
(A) Golf
(B) Lawn tennis
(C) Rowing
(D) Polo

78. Headquarter of FIFA is located at —
(A) Athens
(B) Dubai
(C) London
(D) Zurich

79. Headquarter of UNESCO is in —
(A) Montreal
(B) Vienna
(C) Paris
(D) Nairobi

80. Who is the author of “Anand Math” ?
(A) Amartya Sen
(B) Aurobindo Ghosh
(C)BC Chattopadhayay
(D) R N Tagore

{11)

75. SeeTraaaT Bl 2.
(A) FUT Ft 3 g9
(B) 919 ) s qamm
(C) T &t s oer
(D) 39 5T 37T e

76. TEET ST fordes wow § w7 fy
(A) 1968
(B) 1967
(C) 1971
(D) 1972

77. afetwe 3t farm @ & w2
(A) e

(B) & e

(C) T

(D) gt

78. T % TEATer Fai feym £
(A) v

(B) g=13

(C) &

(D) Syfrg

79. UNESCO &1 J&rer el fer & 2
(A) itz

(B) T

(C) g

(D) el

80. “AT2 93" F FEF FITE 9
(A) o9t 89

(B) 31efeiat vy

(C) ft =t wErgreary

(D) 3R 7 21
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81

82.

83.

85.

86.

“Kangaroo” is the national emblem of -
(A) USA

(B) UK

(C) France

(D) Australia

“Leaning tower of Pisa” is in which
country ?

(A) England

(B) ttaly

(C) France

(D) Austria

Which is the smallest country (Area
wise)?

(A) Vatican City

(B) Monaco

(C) Nauru

(D) San Marino

. Capital of Australia is -

(A) Sydney

(B) Canberra
(C) Melbourne
(D) Perth

Longest day ison —
(A) 21 June
(B) 22 June
(C) 21 May
(D) 22 May

Which of the following is not a vaccine
prevent disease ?

(A) Tuberculosis

(B) Measles

(C) AIDS

(D) Diphtheria

(12)

g1, ware frem g fae 2 2
(A) T T SR

(B) frem

(C) wiE

(D) sirefern

82. wﬁm@tg@rg&ﬂwﬁm%ﬂﬁ%?
(A) T
(B) seeft
(C) wiF

(D) sifezan

3. T v 3w (AT A g Ay IR 2
(A) Az @&

(B) AT

(SEIES

(D) & A

84. sirezferar 1 et 1R 2
(A) i

(B) Fa

(C) Frersr

(D) v

85, Tad v fA FH AT 8 ?
(A) 2151
(B) 2251
(C) 21 %
(D) 227§

36, Frerferfiaa i & F-a 21 T 1 A el T8
22

(A) &3 T

(B) @®U

(C)wH

(D) feedifean
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87.

88.

89.

90.

91.

g2

93,

PM Narendra Modi inaugurated “Mahakal
Lok” corridor in which city?

(A) Ujjain

(B) Somnath

(C) Amarkantak

(D) Nashik

India’s maiden human space mission will
be launched in 2023. What is its name ?
(A) Vayumitra

(B) Vikram

(C) Chandrayan 3

(D) Gaganyaan

Who is India’s Attorney General ?
(A) Harish Salve

(B) R Venkataramani

(C) S Ganesh

(D) KV Viswanathan

Which mammal doesn’t have vocal cords?
(A) Giraffe
(B) Panda
(C) Coyote
(D) Walrus

How many bones does the human skull
consist of -

(A) 21

(B) 22

(C) 23

(D) 24

Which planet has the shortest day ?
(A) Uranus

(B) Neptune

(C) Pluto

(D) Jupiter

How many countries are there in Great
Britain ?
(A) 4
(B) 2
(C) 3
(D)5
(13)

87. T w5t 3z 9t o v i ragreRTer it
wiferan =1 3gred fran

(A) 3597

(B) g1y

(C) 3MTHF

(D) A1t

88. WA %1 Ygen "I Jafte favm 2023 § &
T st sgeT A 82

(A) Irfi

(B) fersrm

(C) =izaM 3

(D) TEEE

89. W T WEFATIETE FH 2 0
(A) T HTey

(B) 311 dsawafor

(C) & T

(D) et fagamam

90. fer AT 3 A i T B 2
(A) s

(B) gizt

(C) TR

(D) STy

91. HHa @ ¥ fRet sefeat Bt &
(A)21
(B) 22
(C) 23
(D) 24

9. e mew fem geg BT AT 2 0
(A) J

(B) T

(C) w2

(D) gEeafa

93, Wz e A feadt 3w 80
(A) 4
(B) 2
(C)3
(D)5
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94, World’s most active volcano is -
(A) Cotopaxi
(B) Kilauea
(C) Vesuvius
(D) Fujiyama

95. Circumference of the Earth was first
calculated by —
(A) Aryabhatta
(B) Galileo
(C) Eratosthenes
(D) Wegener

96. Which acid is produced when milk gets
sour ?
(A} Acetic acid
{B) Lactic acid
(C) Butyric acid
(D) Tartaric acid

97. The lens used to rectify long sight is —
(A) Convex lens
(8) Concave lens
(C) Plano convex lens
(D) Plano concave lens

G8. Excise duty is levied on the —
{A) import of goods
(B} Export of goods
(€) Production of goods
(D) Sale of goods

99. Food wrapped in newspaper is likely to
get contaminated with —
(A) Iron
(B} Lead
(C) Aluminium
(D) Magnesium

100. How many judges are members of
International Court of Justice?
(A) 12
(8) 15
(C) 18
(D) 21
(14)

94, g = watfus wfis saremyet & -
(A) I
(B) Frerrssm
(C) =afra
(D) Fframn

95, qeaft it afefer i or wdwer ek gro A
oft 2

(A) 3E

(B) efiferat

(C) wrZreertsr

(D) F

96. @waﬁwﬁqmmw@
(A) ufifes ufe
(B) Sf¥es ufge

(C) =afefe o
(D) 7réfe ufers

97, & gf i 3 w1 & forg T iE R -
(A) 39 &9

(B) 7aae oiF

(C) TRt 39 o

(D) =Y 3T S

98. SMEHIT Yo ST ST & —
(A) HTeT =T ST

(B) uret 1 fata

(C) HTel 31 JeqTeA

(D) mrer it fagfir

99. THTAR T 3 T T A F g B H
e forad Bt —

(A) wirer

(B) T8

(C) uegHitram
(D) Bty

100, st =raver % fraa =i
e ]

(A) 12

(B) 15

(©) 18

(D) 21
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MATHEMATICS

101. Find the value of —
343X 343X 343 -113X 113X 113
343X 343 +343 X113+ 113 X 113
(A) 210
(B) 230
(C) 250
(D) 215

102. If V3™ = 729, then the value of n is —
(A) 6
(8) 8
(C) 10
(D) 12

103. LCM of two prime numbers x and y (x > y) is
161. The value of 3y — x is:

(A) -2

(B) -1

(€)1

(D) 2

104. A man in a train notices that he can count 21
telephone posts in one minute. If they are known
to be 50 metres apart, then at what speed is the
train travelling?

(A) 55 kmph

(B) 57 kmph

(C) 60 kmph

(D) 63 kmph

105. A number when divided by 6 leaves a
remainder 3. When the square of the same
number is divided by 6, the remainder is:

(A)O

(B) 1

(C) 2

(D)3

106. What is the unit digit in
[(264192) + (2641%)]

(A) O

(B) 1

(C) 6

(D) 8

107. If a+b+c = 0, then the value of
(E:E_Pb+c c+a c

a b 4
g PSS gt
(A) 9
(8) 0
(C) 8
(D) -3

(15)

101, |1 T Y —
343X 343X343-113X113X 113
343 X343 +343 X113+ 113X 113
(A) 210
(B) 230
(C) 250
(D) 215

102.9f& /3" =729, df nFTHME -
(A) 6
(B) 8
(C) 10
(D) 12

103. 31 4R FEaTs x 3R y (x>y) 1 T GHOES
161 8| 3y — x FT0H 2

(A) -2

(B) -1

€1

(D) 2

104. T 37 ¥ U 1eHt Afew i & o o v e d 21
ZefithI die i TORT 3 e ] 4 ¥ 50 e gl wd
diga e nfad e s @

(A) 55 fRow050

(B) 57 fHow0m0

(C) 60 fRoT0=0

(D) 63 fRow0=0

105. & fepedt a1 6 @ fnfora T smar 2, v 9w 3
WTH BT 8| ST 3 g & & % 6§ fanfe e s
g Ay Em -

(A) 0

(B) 1

€2

(D)3

106. [ (264192) + ( 264193) | 1 $=18 i F7 B2
(A) O
() 1
(€6
(D)8

107.3f¢ atbe =0, @l
a+b b+c  c+a a b 5
R AR T
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108. If x + = = b, then the value SrENERR i
x bx?—x?

(A) a+b
(8) 2
(€7
(D) ab

109. ‘A’ can go round a circular path 8 times in 40
minutes. If the diameter of the circle is increased
to 10 times the original diameter, then the time
required by ‘A’ to go round the new path once,
travelling at the same speed as before is:

(A) 20 min

(B) 25 min

(C) 50 min

(D) 100 min

110.1fab—b +1=0and bc—c+1=0, then what
is the value of (a —ac)?

(A) -1

(B) O

()1

(D) 2

111. If ‘@’ is an integer such thata + i = 3} then

the value of (a — i} is:
(A) 4
(8) i;:
o
.

112. If a— b =1 then the value of @’ - b? - 3ab will
be ;

(A) -3

(B) -1

(1

(D)3
113. 1f-11; :i:-l- = 2:3:5 then determine X:y:Z

z
(A) 6:15:10
(B) 3:15:10
(C) 15:3:10
(D) 15:10:6

114. If the radius of the circle is decreased by
20%, then the percentage decrease in its area is:
(A) 26%
(B) 32%
(C) 36%
(D) 53%

(16)

2
108, 7R x + &=, A L A R
x bx2—x3
(A) atb
2b
(B) —
a
c b
©7
(D) ab

109. A’ 40ﬁqzﬁqaﬁqmquzsmwm%|
a&qaarm,mﬁaimﬁwgmmﬁmmﬁaa
‘A*mmqmmwm@wwﬁﬁmmaﬁﬁ,
it = G 82

(A) 20 fiFe

(B) 25 fir

(©) 50 fire

(D) 100 52

110.ﬂ‘ﬁab-b+l=03ﬂ'(bc—c+ 1=0, 4l (a - ac) &I
I S BT

(A) -1

(B) 0

)1

(D) 2

111.uﬁ‘a*t@5q§ﬁeﬁ%aﬂta+%=ﬂﬁr(a-bmm

4
3
(A) 4
w3
®)
17
©3
.
)~
1129 a-b=1dra3-b3 - 3abFAAE -
(A) -3
(B) -1
©) 1
(D) 3

ll3.ﬂﬁl:-1-:1=2:3:5?f$x:y:237m$&—
X'y 2
(A) 6:15:10
(B) 3:15:10
(C) 15:3:10
(D) 15:10:6

114, 9% v ga i et A 20 1 i Bl & A IR
drrre o Fape wicrerar <6 ol @l

(A) 26%

(B) 32%

(€) 36%

(D) 53%
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115. If a shopkeeper marks the price of goods
50% more than their cost price and allows a
discount of 40%. What is his gain or loss percent?

(A) Loss 10%

(B) Gain 10%

(C) Loss 9%

(D) Gain 9%

116. The lowest term of an expression —
x?+8x+12 | x?+4x-12 is
x2-7x+12 x—4

x=2
(A) (x—3)(x+2)

x=2
(B) {x+2)

x+2
S ey
(D)

x43
(x-2)

117. If a, b, ¢ are real numbers such that a<b and
c<0 then which of the statement is true?
a b
(A) =<=
(B) ac< bc
[ o C
&%

(D) ac>bc

118. If 25 = a+b+c then
(S—a)’+(S—b)* +3(S—a)(S-b)cis equal to
(A) &
(B) c
(C) (S-¢)
(D) None of these

119. Value of V0.9 is
(A) 0.3
(B) 0.94
(C) 0.92
(D) None of these

" 131920......,,.&0
120. Find the remainder of —
(A) 2
(B) 3
(C) 4
(D)1

(17)

115. 0o GTHET 36 T & 50% Ao 9 o 51l 1
sifeper T & o7 ifeRd Hoa W 40% i g2 34 | IuFH
A A1 g1 ferer @ g

(A) =1 10%

(B) @™ 10%

(C) T 9%

(D) & 9%

116. Frefefas e &1 feras w38 0 -

x%+8x+12  x*+4x-12

x2-7x+12 = x4
Qe

(8) (i:)

(©

(D)

x+2

(x=3)(x-2)
x+3

(x-2)

117. 3R a, b, ¢ STETTF GEATE R 3 a<b T c<0 A
frafafaa § PR W FE g 2

() %<2

(B) ac < bc

L e

(D) ac>bc

118. 318 2S=a+b+c @l
(S—a)P+(S-b)’+3(5—a)(S—b)cHFAAR -
(A)
(B) c
(C) (8=¢)
(D) 38 & S 7elt

119./0.9 7 9= & -
(A) 0.3
(B) 0.94
(C) 0.92
(D) &9 & g 7

PRRRER - <
1718°%%°

120. SYHE F1 F -
(A) 2
(B) 3
(C) 4
(D)1

8
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121. Find the value of -

122. When each side of a cube is increased by
20%, then find the increase in its total surface
area.

(A) 20%

(B) 80%

(C) 44%

(D) 84%

123. The ratio of pens and pencils in a shop is 3:2
respectively. The average number of pens and
pencils is 180. What is the 30% of the number of
pencils in the shop?

(A) 150

(B) 144

(C) 245

(D) None of these

124. The cross-section of a canal is trapezium in
shape. The canal is 12m wide at the top and 8m
wide at the bottom. If the area of the cross-
section is 840m?, then depth of the canal is —

(A) 8.75m

(B) 42m

(C) 63m

(D) 84m

125. Triangle ABC is right angled at C and p is the

length of the perpendicular from C to AB. If BC=a,
AC=b, AB=c then

T al®

(A) 5 ==

(B) pc=ab

: o | 1
Otz

(D) None of these

126. If two pipes function sim ultaneously, the
tank is filled in 12 hours. One pipe fills the tank 10
hours faster than the other, How many hours
does it take the fast pipe to fill the tank?

(A) 6 hrs

(B) 10 hrs

(C) 20 hrs

(D) 22 hrs

(18)

122, et ort ot sy af 20% e o 13, it vk et
THTY &het § foheedt st Bt

(A) 20%

(B) 80%

(C) 44%

(D) 84%

123. & g 5 O iR St a1 i o 322 29
ST Aftrer it i we 180 ) g i el it e
1 30% feren 22
(A) 150
.(B) 144
(C) 245
(D) ¥ & = 7

124. T T8 T H1G-GFT STHR o Tk $9Frm 2) a2
T w9t 12 et it R i A g e e 2, o
IE-GF T &GS 840 1Y 2, T TR 2

(A) 8.75 diex

(B) 42 dtex

(C) 63 Hizx

(D) 84 Htex

125. s ABC, C R awehiv & 3fit p, v 1 raré 2 ©
¥ AB W | 4f& BC=a, AC=b, AB=c a

(B) pc =ab

126. af% 3 Tew v wrer e e A Y 12 2
WUSITT & | O 9159 2t ) ge i qer § 10 9 A &
T & | 21 W ¥ for O arew v Reay o
T 22 -

(A) 6812

(B) 1052

(€) 2082

(D) 22 %2
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127. How many square shapes does the net of a
cube have?

(A) 4

(B) 6

(C) 8

(D) 10

128. Which of the given shapes is NOT a 3-D
shape?

(A) Trapezoid

(B) Prism

(C) Pyramid

(D) None of these

129. The three perpendicular distances of three
sides of an equilateral triangle from a point which
lies inside that triangle are 6cm, 9cm & 12cm
respectively. The perimeter of the triangle is:

(A) 42v2 cm

(B) 45v3 cm

(C) 52v2 cm

(D) 54v3 cm

130. A rectangie of maximum area is drawn inside
a circle of diameter 5¢cm. What is the maximum
area of such a rectangle?

(A) 25 cm?

(B) 12.5 cm’

(C) 12 em?

(D) None of these

131. The angles x°, a°, ¢® and (180 —b)° are
indicated in the figure. Which of the following is
correct?

(A)x=a+b+c
(B) x=b—-a-c
(C)x=a+c-b
(D)x=a-b+c

(19)

127. U G %1 W1 fehers a © s 82
(A)4
(B) 6
©) 8
(D) 10

128, Freferfaa smert & & # ar Bremamdt sewr 7 22
(A) GHEE
(B) o=
(c) fofs
(D) ¥ A FIZ TE

129. ek wwaTg e o v feura el fafg & wqmiatt
e gt s 6 89ft0, 9 Bfto 3t 12 Fwfio & | Py
1 i 2

(A) 422 0

(B) 45Y3 &0

(€) 52¥2 &0

(D) 543 &fto

130. 5§10 =3 aTel U I § SN ahel 1 U
e i ST 2 Y ST o ST SEEE 1 27
(A) 25 cm’
(B) 12.5 cm’
(C) 12 em’

(D) 8 & HIE &l

131. P A =0T x°, a°, ¢° 39 (180-b)° Ry |
et e FRwad &

(A) x=a+b+c
(B) x=b—-a-c
(C)x=a+c—-b
(D)x=a-b+c
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132. In the given figure, ABCD is a square and
£ABC=90°. If AQ = BR = SC, then consider the
following statements:

| QB=RC

I AB =BC

i £BAC=45°

v AC=PS
s o R

(A) Only | & IV are correct

(B) Only 1, Il & il are correct
(C) Only I, Il & IV are correct
(D) All are correct

133. If ab+bc+ac=0 then af_zbc * b:;. * cziw
is equal to :

(A) O

() -1

€1

=]

1 1

R
134. In a right angled triangle, the mid-point of
the hypotenuse is:

(A) Circumcentre

(B) Incentre

(C) Excentre

(D) Orthocentre

135. If “x’ is the median of an equilateral triangle,
then area of triangle is:
xz
(A) 5
(B) x?
V3ix?
R
X
(D) A

136. If area of a parallelogram with sides p and q
is R and that of a rectangle with sides p and q is S,
then

(A)R>S

(B) R<S

(CR=S

(D) No relation between R & S

(20)

132, e for &, PQRS wh i & 3l LABC=90° | 3%
AQ=BR=SC, i fi=fafaa wu=i w fmm w1

I QB=RC

I AB=BC
m £LBAC=45°
v AC=PS

< C R

P A : Q

(A)Fad 1 &1V T 3
(B) %as 1,11 & NI Gé 2|
(C) Faa 11, 11 & IV @& ]
(D) &t Tt 2]

a? b? ct
133. 3R absborac=0 W —— s —s—m =
(A) 0
(B) -1
€)1

134. weh wwehivr et 3 whof oy wea-forg e 2:
(A) uftdz
(B) ¥: F%
(C) Iehz
(D) erwarhg

135. af foreft ey Frger o e ' 2, 3w
A% &

W=

®) x*

2
© V3x

2
x2

(13');‘,-—3

136. 3fR p 3N q S ATet WA TS 1 &t R 2
WgﬂTpﬁTqmﬁWﬁ[mSiﬁ

(A)R>S

(B) R<S

(C)R=S

(D) R 37 S ¥ o9 1 gaiy 38
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137. ABCD is a Rhombus in which £C=60°, then
AC: BD is equal to -

(A)1:v3

(B)1:v2

(C)v2:1

(D)v3 :1

138. Mr Sharma travels by car and covers 25% of
his journey with a speed of 10 kmph, 45% of his
journey with a speed of 5 kmph and remaining
30% of his journey with a speed of 15 kmph.
What will be the average speed of Mr Sharma for
the whole journey?

(A) 8.20 kmph

(B) 7.40 kmph

(C) 6.10 kmph

(D) 9 kmph

139, Atank is 7 m long and 4 m wide. At what
speed should water run through a pipe 5 cm
broad and 4 cm deep, so that in 6 h and 18 min,
water level in the tank rises by 4.5 m?

(A) 12 kmph

(B) 10 kmph

(C) 14 kmph

(D) 18 kmph

140. How much pure alcohol should be added to
400 ml| of 15% solution to make its strength 32%?
(A) 120 ml
(B) 133 ml
(C) 100 ml
(D) 163 ml

141. In what time will Rs.3300 becomes Rs.3399
at 6% per annum interest compounded half-
yearly ?
1
(A) 1; years

(B) 6 months
(C) 1 year
(D) 3 months

142. The difference between the interior and
exterior angles of a regular polygon is 60°. Then,
how many sides are there in the polygon?

(A) 5

(B)6

(c)7

(D)8

(21)

137. ABCD u% wwaqys # fad £0=60°, @1 AC : BD
T E -

(A) 1: 3

®) 1:\2

© V2:1

™3 :1

138. ft 3t &R & A Q& 3T 1ot AT T 25%, 10
feprtt wfer = < mifer @, 459% am 5 Rt wf e Frnfa &
3T 91 30% A 15 fedt wfa e frafa G 7 F@ 8@
g # oft st oy e i w7 B0l

(A) 8.20 fFft ufg =2

(B) 7.40 farft wfg =2

(C) 6.10 et ufer =2

(D) 9 foft wfey =12

139, T ¥ 7 Hiet oian 39K 4 der Sher @) 5 &t 912 ot
4 Aefy reX aTsy & wrh fore ife @ s wnfe, arfen 6w
37T 18 fiee # T o urelt 1 & 4.5 et 71g S

(A) 12 Tt gfe =2

(B) 10 fpeft wfer &2

(C) 14 et wfg =

(D) 18 fereft wfe =2

140, 379 AR 32% S ¥ T 15% =i % 400
fircfrefiet & fopeeft 37 v fired sl =fey

(A) 120 frefrefrer

(B) 133 firefiefter

(C) 100 firefiefret

(D) 163 firefieftet

141. rdarie sprafe s W 6% e S R A3,
3300 e @ 5. 3399 & STE?

(A) l%aﬁ
(B) 6 WEIR
(C) 1

(D) 3 W&

142, T GH TGS ¥ 3Tafen S s ol & sfte
3R 60° B 7, SRS H et st &

(A5

(B) 6

©)7

(D) 8
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143. In the given figure, ABCD is a parailelogram
and E is the mid-point of AD. A line through D,
drawn parallel to EB, meets AB produced at F and

BC at L, then
D C

(A) AF=2DC

(B) 2AF=3DC

(C) 2DF=3DL

(D) AF+ DF=3 DC+ DL

144. If the average of 4 observations is 20 and
when a constant P is added to each observation
the average becomes 30, then the value of P is:

(A) -10

(8) 10

(C) 4

(D) 8

145, Pie chart is drawn with the help of:
(A) radius of the circle
(B) chords of the circle
(C) sectors of the circle
(D) diameter of the circle

146. City A has a population of 136000 which is
decreasing at the rate of 2400 per year. City B has
a population of 84000 which is increasing at the
rate of 1600 per year. In how many years will the
population of two cities become equal?

(A) 13

(B) 18

(C) 15

(D) 19

147. Average of ten positive number is . If each
number is increased by 10% then X :

{(A) remains unchanged

(B) may increase

(C) increase by 10%

(D) None of these

(22)

143. fém me i #, ABCD & gwfar Iqiis & dE, AD
1 wez-forg 1 D & o v, i i BB ¥ Wi 2, 791 g

AB %! F 9% 31 BC #1 L 97 firerdt 2, &t
D C
E L
A B F
(A) AF=2DC
(B) 2AF=3DC
(C) 2DF=3DL

(D) AF+DF =3 DC +DL

144, 7t 4 Jeori =1 e 20 # 3 & TOF YT H U
feop p g ST A WA 0B AR, AP FTHAA R
(A) -10
(B) 10
(C) 4
(D)8

145, 978 =Té forueR R ST e 22
(A) FW ot s
(B) 3 i Sftan
(C)TaFTEEH
D)TaHAHE

146. TET A oY SHEEAT 136000 2 S 2400 fd o it X
¥ 2 1@ B w8 B Y SEEEn 84000 ® 5 wfd 3§ 1600
1 Y g W 21 Trem ol & ST sred ) SEEE sue
& St

(A) 13

(B) 18

(C) 15

(D) 19

147. 39 9o HENH] #1 3ied X 21 3 v ge
1% frafgHRsdheax:

(A) s &t

(B) 93 g &

(C) 10% &

(D) ¥ & F1E TE
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148. From a container having pure milk 20% is
replaced by water and the process is repeated
thrice. At the end of the third operation, the
percentage of pure milk is:

(A) 51.2%

(B) 50%

(C) 40%

(D) 58.8%

149. A dishonest dealer professes to sell his
goods at cost price. But he uses a false weight

and thus gains G-i-g%. For a kg, he uses a weight

of:
(A) 940 gms
(B) 947 gms
(C) 953 gms
(D) 960 gms

150. A dairyman pays Rs.6.40 per litre of milk. He
adds water and sells the mixture at Rs.8 per litre,
thereby making 37.5% profit. The proportion of
water to milk received by the customers is:

(A)1:10

(B) 1:12

(C)1:15

(D)1:20

151. The sides of a triangle are 3cm, 4 cm and 5
cm. The area (in cm?) of the triangle formed by
joining the mid-points of the sides of this triangle
is:
3

(A) 5

(8) >

(C) 3

(D)6

152. A polygon has 35 diagonals. Then the
number of sides of that polygon is:

(A) 7

(8) 10

(€) 11

(D) 12

153. In how many years will the sum of Rs.800 at
10% per annum compounded semi-annually

becomes Rs.926.10 ?

(A) 1%
1
(B) 1'%
(C) 2;

(D) 2%

(23)

148. 7% 29 A1) Uk e & 20% T & e S §
it et wfzwan bt i S dreer s 21 et SEE &
i #, Y1& 3u 1 o :

(A) 51.2%

(B) 50%

(C) 40%

(D) 58.8%

149. e A A 379 HIe i AT Hed W S
7 AT B) S I8 S T T I Al & I

18
mﬁ;%aﬂmmm%mmﬁﬁhum%%maa

e =t =1 39F0T T 27
(A) 940 T
(B) 947 U™
(C) 953 7T
(D) 960 7T

150. Tk ot a1l %. 6.40 wft Tfier A WA 70 wliwan
e 3ai ur et & 7R firsror 1 %, 8 i wftet s s
2, Fore 37.5% ST 2T &) TTEHI FRI ST IR 37 H
FIE B:

(A)1:10

(B) 1:12

(C)1:15

(Dy1:20

151. @k foger o s 3 Eeft, 4 Beft o s Al 1w
et oY sgemradt 3 wrea- gt 1 et & s Fngst 1
SAhe (Bt #) R?

"3

®) 5

()3

(D) 6

152, e T wger 8 35 forept & A 3@ agye 1 el
i ge &

(A) 7

(B) 10

(C) 1

(D) 12

153, febe @it & 5. 800 1 TRT 10% e = whafa
7.1 A T, 926.10 B STt 2

A
(A) l;

1
(B) 1;

1
(C) 25

1
(D) 25
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154. Divide Rs.2379 into 3 parts so that their
amounts after 2, 3 & 4 years respectively may be
equal, the rate of interest being 5% per annum at
simple interest. The first part is:

(A) Rs.759

(B) Rs.792

(C) Rs.818

(D) Rs.828

155. There is 60% increase in an amount in 6
years at simple interest. What will be the
compound interest of Rs.12000 after 3 years at
the same rate?

(A) Rs.2160

(B) Rs.3120

(C) Rs.3972

(D) Rs.6240

156. Two trains running in opposite directions
Cross a man standing on the platform in 27 sec
and 17 sec respectively & they cross each other in
23 seconds. The ratio of their speeds is:

(A)1:3

(B)3:2

(C)3:4

(D) None of these

157. A boat takes 19 hours for travelling
downstream from point A to point B and coming
back to a point C midway between A & B. I the
velocity of the stream is 4 kmph and the speed of
the boat in still water is 14 kmph, what is the
distance between A & B ?

(A) 160 km

(B) 180 km

(C) 200 km

(D) 220 km

158. ABCD is a Rhombus whose diagonals meet at
O, then AB® + BC* + CD? + AD? s equal to:

(A) AD? + AC?

(B) AC? + BD?

(C) AO? + OC2

(D) 2 (A0* + 0B}

159. The sum of five consecutive odd numbers is
1185. Find the smallest number:

(A) 233

(B) 213

(C) 237

(D) 211

(24)

154.%. 2379 %1 3 wmit & fnnfire 5% arfs s 2,3 3k
4aﬂ%mmwmﬂ,mmwma
5% wfer = ) wmer w2

(A) % 759

(B) % 792

(C) & 818

(D) % 828

I55. Wramer s4191 9T 6 98T § war wfir i 600, &1 gfg areft
t3af s ams, 12000 %1 waafE sart fipean
&

(A) %. 2160

(B) %3120

(0) % 3972

(D) %. 6240

156.Pq'qﬂaﬁma‘fﬁaat€ra‘tﬁ®zq;ﬁqra%qm
SIfth Y ST 27 ke i 17 &% & UR et # 3t
TF QA 23 S 3 TRt §1 e i e 2

(A)1:3

(B)3:2

(©)3:4

(D) 379 & 1 7t

157.@5:13%3&%&%@%%33%%%&
A 3R B 3 fter  firg © v ame o3 o 19 572 7 g
éa‘t%wf&amasr%mﬁmﬁnhéa%aﬂtmw&m
i fe 14%9%%%,??[A@IB%3&3@@W%?

(A) 160 faeft

(B) 180 fareft

(C) 200 faft

(D) 220 faft

158. ABCD U &yt & forerds foraot O we firerdt 4
AB’+BC* + CD’ + AD® st &

(A) AD” + AC?

(B) AC” + BD*

(C) AO® + 0oC?

(D) 2 (AO* + OB?)

159, Wta STTa farems sepfeer st v 1195 3
wﬁ@mﬁammaﬁr&q

(A) 233

(B) 213

(©) 237

(D) 211
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160. Simplify -

(ax=by+cz) + (ax—by—cz)? - 2(ax-by+cz)(ax~by—cz)

(A) % + %2
(B) abexyz
(C) 4c2xy

(D) 4c%2?

161. When x - % =2, find x* + ﬁ
(A) 8
(B) 6
(C) 26
(D) 34

2av 1+.'JCi

162. If a+b=x+m,then X is:

a-b
(A} ===

a+b

(B) ;=

a+b
(C) =

a-b
(D) e

163.1f x=(a +VaZF 57 )i + (a — Va? T 57 )
then value of x® + 3b%x — 24 is

(A) 0

(B) 1

(C) a

(D) b

164. What number should be added to 231228 to
make it exactly divisible by 33?

(A) 1

(B) 2

(C) 3

(D)4

2 2 v
165. If i%fgi =
the value of z is;
(A) 2
(B) 3
(€) 4
(D) None of these

—2and x +y = 3z, then

(25)

160. T F -
(ax-by+cz)’ + (ax-by-cz)’ - 2(ax-by+cz)(ax-by-cz)
(A) 2% + %7
(B) abexyz
(C) 4c’xy
(D) 4’7’

161. 5T x—i—=2 grar x“+;14- | Fif
(A) 8
(B) 6
(€) 26
(D) 34

2avi+x? .,
; tbhm——
162.9f a+p x+ma’rﬁxmiﬁﬁ|ﬁ
A a-b
( Ja+£;l
a+b

2vab
(©) o 5
a-b
2vab

(B)

(D)

163. 9% x = (a + VaZ ¥ 52 )i + (a —VaZ F 57 )5
qd x% + 3b2x — 20 F AR @AY

(A)0

(B) 1

(C)a

(D)b

164. T 231228 ot i3 o 7 e 33 & ok
forrfira 21 s 2

(A) 1

(B) 2

(©)3

(D) 4

x% 492472 64
165. afg e
B Z #A 39 Ffw
(A) 2
(B) 3
(€) 4
(D) 377 & =S &

= 23 x+y=2z
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Directions: The following diagram shows the
expenditure of a family on various items A, B,CD
& E. Study the diagram and answer the questions
from 166 to 168.

166. The angle of wheel diagram showing
expenditure incurred on item A is:

(A) 30°

(B) 35°

(C) 108°

(D) None of these

167. Which two expenditures together will form
an angle of 90° at the centre of the wheel
diagram?

(A) D&E

() C&A

(C)B&D

(D) None of these

168. If the income of the family is Rs.3000 per
month then expenditure of item C will be:

(A) Rs.400

(B) Rs.500

(C) Rs.600

(D) Rs.800

169. ABC is a triangle in which AB=AC. Let BC be
produced to D. From a point E on the line AC, let
EF be a straight line such that EF is parallel to AB.
Consider the quadrilateral ECDF thus formed. If
£ABC=65° and £EFD=80°, then £FDCis:

(A) 43°

(B) 41°

(C) 37°

(D) 35°

170. Find the least square number which is
exactly divisible by 3,4,5,6 & 8.

(A) 14400

(8) 32400

(C) 57600

(D) None of these

(26)

Byt Frrferfiaa s R w8t A, B, C. D3REWR
@w%mﬁmélmwmﬁaﬁtme
¥ 168 7F F wl F I3

166. 7 A W FR0 U 59 Y @91 STl SIg ST 1 A0
2

(A) 30°

(B) 35°

(C) 108°

(D) % A F18 7

167, 1 & 3 T T B T A > T A
X IO & AN 90° & 2

(A)DFRE

(B) C 3 A

(C)B3MD

(D) 9 & r$ el

168, af aRam Y 31 %. 3000 Wi #TE B 4t TG C H
4R

(A)%. 400

(B) %. 500

(C) %. 600

(D) %. 800

169. ABC @ Fwr & el AB=AC &1 5 ofifse BC #1
D 9T ST 21 XET AC T U g E A, EF 0 T
“iefr v 84 & £ EF. AB % @I 211 38 S foa
=it ECDF T Rt il 3T £ ABC=65° 311

LEFD=80° , @l ZFDC ®:
(A) 43°
(B) 41°
(C) 37°
(D) 35°

170, 98 D1t & B @ wE Jr FFT S 3, 4. 5, 6 A
8 & qufa: fenrsa &)

(A) 14400

(B) 32400

(C) 57600

(D) ¥ A 1S TE
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171. Evaluate - ¥27 + V0.008 + V0.064
(A) 3.6
(B) 36
(C) 360
(D) 0.36

172. Suppose a certain sum doubles in 2 years at
r% rate of simple interest per annum and R% rate
of interest per annum compounded annually.
Then,

(A) r<R

(B) R<r

(Cr=R

(D) Cannot be determined.

173. If x* + 5x% + 10k leaves remainder —2x
when divided by x? + 2 then value of k is:

(A) 1

(B) —1

(C) -2

(D) 2

174.If x +§= a , then what is the value of
B+ s
X x
(A) @® + a?
(B) a® + a®* — 5a
(Ca*+a*—3a-2
(D)a*+a*—4a-2

175.If h, S, V be the height, curved surface area
and volume of a cone respectively,
then (3nVh® — S*h? + 9V?) is equal to

(A) 2

(B) 0

(C) 2m

(D) 3m?

(27)

171, 8@y — Y27 + V0.008 + V0.064
(A) 5.6
(B) 36
(C) 360
(D) 0.36

172. Wi wifere for e Frfie ofar 2 @t o 1o i ad
GTIRYT ST it @ AT AT ST 5T h R% TH
et & ot &, A

(A)r<R

(ByR<r

(Chr=R

(D) Sra e fewam < wwar

173.3f% x3 4+ 5x%2 + 10k F1x2 + 2 dwm A
WINEA —2x e k FHA &
a1
B) -1
() =2
(D)2
e x+i=a @ B Hxi =+~
X x X
FIHAE:
A a® + a?
®)a® + a? - 5a
©a*+a*—-3a-2
ma®+a®>—4a-—2

175.af% h, S,V sEe 39, 9HT8 9% I ARG
twwvmHa (3nVh® — S2h? + 9V?) mam
&

(A) 2

®)0

(C) 21

(D) 3m?
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INTELLIGENCE

Directions : Find out how will the key figure (X)
look like after rotation.

& (9|68 EP |60
176. (%) 1) 2 (3 4
(A) 1
(B) 2
(€3
(D) 4

P A

177. %) {1) {2y 33 (W
(A) 1

(B) 2
(€) 3
(D) 4

Directions : Select a suitable figure from the
Answer Figures that would replace the question

Frdor - v % o gwr & e &t st (X) et

faentt
B RS

{1} {2} (3) {4}

176, x)
(A) 1
(8) 2
(€) 3
(D) 4

AV

(1) (23 (3} (#®

177. ™
(A) 1
(8) 2
(C) 3
(D) 4
fdor : T amaRforat & & 39 ST Rty w1 TE W
W T g (7) F O E

178, &wer fom

I fam

L £1® [~ ? 4 Ve Vit Ul

(A) (B) (C) (D

(1) (2) 3) (4)

mark (?).

178. Problem Figures: Answer Figures:
£13 |~ ? { || =
(A) B) (C) (D) (1) (2) )4
(A) 1
(B) 2
(C) 3
(D) 4

179. Problem Figures: Answer Figures:
O 7] [P d
(A) B) (C) D) (1) @ (B)4)
(A) 1
(B) 2
(€) 3
(D) 4

Directions : Find out the alternative figure which
contains figure (X) as its part.

ZAIARK

180 (K I A

(X) m @ @ @
(A) 1
(8) 2
(€) 3
(D) 4

181.

(A) 1
(B) 2
(€) 3
(D) 4
(28)

(A) 1
(B) 2
(€) 3
(D) 4

179. wmEr fom: I o

e E g

(A) (B) (C) (D) (1) (2) 3) (4)
(A) 1
(8) 2
(€ 3
(D) 4

fadr : we Aenfoues ammafer e hifrg vt errsfar
X) AT &R ETHE |

180. (K ! o5 %

(X) 1 @ 6 @
(A} 1
(B) 2
(€3
(D) 4

A W

(X) (1)
(A) 1
(B) 2
(€) 3
(D) 4

181.
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Directions : Select a figure from amongst the
Answer Figures which will continue the same
series as established by the five Problem Figures.

182.

183.

184,

185.

Problem Figures: Answer Figures:

= S § W ¢ 9] ¢
E e Wy b LT To ]
(A) (B) (C) (D) (B) (1) (2) B4
(A) 1

(B) 2
(C) 3
(D) 4
Problem Figures: Answer Figures:

< —H [FAYAa-+] DAA-+
|ﬁlan4a 2| oi 8‘5 %8 ®leoile °
(A) (B) (C) (D) (E) (1) (2) (3)(4)

(A) 1
(B) 2
(€3
(D) 4

Problem Figures: Answer Figures:

SIS IS

(A) (B) () (D) (B) (1) (2) (3) (4)
(A) 1
(8) 2
€3
(D) 4

Find out which of the figures (1), (2), (3)

and (4) can be formed from the pieces given
in figure (X).

186.

P
bg” ®o

(A) 1
(B) 2
(C) 3
(D) 4

Heena is the daughter of Ajay. Mala, who is

ﬁﬁ:mmﬁﬁiﬁma@ﬁmmﬁ@ﬁ
e et SRl ZHT EAT siEre i ST e

182. e fet:

L 1 X Q G s
l; T “lm AN
(A) (B) (C) (D) (E) (1) (2) (3)(4)
(A) 1
(8) 2
(€} 3
(D) 4

183. mf%ﬁr-

¥ —ATE-IOARSE
oo e -jo o
anoau AQ 0 +l®

) (B) (C) (D (E) (1) (2) (3) (4)
(A) 1
(8) 2
© 3
(D) 4

184, wweq fam 3o e

SIS I

(&) (8) (€) (D) (B) (1) (2) (3) ()
(A) 1
(B} 2
(€3
(D) 4

185. v s e sl (x) o e geRel H @ -
ft FTF (1), (2), (3) 3 (4) TS 1 @A 2

7. S
Pl R
(A) ]:5? (1} (2} (3 {4)
(B) 2
(C) 3
(D) 4

186, e, svorr ot oAt 1 srere o) S Wi & 0
et it 3w A wefien &1 wwen gefien & @

Achala’s sister has a son Romi and a daughter st on i ot ) Jeft o AT IE R o &

Sushila. Kamla is maternal aunt of Sushila and 2
mother of Krishna. Romi is cousin of Krishna. = mé B3 i Rkl 2

Krishna is brother of Heena. How is Achala related (A) R WIS/
to Ajay ? (B) wsfi

(A) Cousin (C) warsit

(B) Sister in law (D) &&T

(C) Niece

(D) Sister
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187. In a certain code language “AROUND" is
coded as 52182412144 and “FIX" is coded as
63624. How will "PLASTIC” be coded ?

(A) 1612522021363
(B) 1612261920183
{C) 1812521920383
(D) 1612521920363

188. 1f MACHINE is coded as 19-7-9-14-15-20-11
then DANGER wili be coded as —
(A) 11-7-20-16-11-24
(8) 13-7-20-9-11-25
(C) 10-7-20-13-11-24
(D) 13-7-10-11-2

189. Ananya started from a point in some
direction. After walking for some time, she turned
to her right and continued walking. Now walking
for some distance she turned to her left and after
this finally to her right. If now she is walking in
west direction, in which direction did she start her
journey.

(A) North
(B) West
{C) East

(D) South

Directions for Q 190 to Q 193 — Answer the
questions based on the below statements.
In a family of 6 people, all the people are of
different professions. There are two married
couples in the family.
»The 6 people in the family are A, B,CDE&F.
» There professions are lawyer, teacher,
salesman, doctor, engineer & accountant but
not in same order.
#The saiesman, D is married to the teacher.
% Doctor & lawyer are martied couple.
»Teacher is female and A’s daughter in law is
lawyer.
% F is the son of B and brother of Eandis
accountant by profession.
> E is an engineer and is unmarried.
% C is the daughter in law of A.
» A is the grandmother of F.

190. What is the profession of the person married
toC?
(A) Doctor
{B) Salesman
(C) Teacher
(D) Engineer

191. HowisE relatedto A ?
(A) E is the grandson of A.
(B) Eisthe granddaughter of A.
(C) EisthesonofA.
(D) Cannot be determined.

(30)

187 e fafara =g wrer § “AROUND” 1 52182412144 3K
CFIX" F 63624 3 & 3 Fifea fopar S 21 “PLASTIC”
=1 ¥ wifea S smom ?

(A) 1612522021363
(B) 1612261920183
(C) 1812521920383
(D) 1612521920363

188 1 MACHINE I 19-7-9-14-15-20-11 F ey i Hife
ﬁmm%ﬁmmmaﬁ%um@%a%m
STE?

(A) 11-7-20-16-11-24
(B) 13-7-20-9-11-25
(C) 10-7-20-13-11-24
(D) 13-7-10-11-25

139, st P foem v foig & g e B FB WA F
1. 77 o e it sitc s w1 I FF Y
wﬁ%m%aﬁaﬁ‘g@aﬂtgﬁmaﬁﬁmﬂi
ggﬂémﬁwasuf%mﬁmﬁaarz&%.ihmm
arar for foa 3 sy < ot

(A) T

(B) ufar

© =

(D) &f&m
wwnimsrm#ﬁrqﬁ%ﬂ-ﬁﬁqﬂqaﬁuﬁ%
FrTuTe aT et I

¢ e 3 e & aelt v Ser-sTer 39 % 8

ofan § 2 frarfee 3 8
5 fErd 6| A, B, C, D, ESCF 3

Jamr d e AR

Feada, DA AR AR

St 3 A T TS E

Foers ufeen & oftt A F wg 7 &1

F.BW?&WEHW@%@T@@@@E%\

£ o gt @ aft srferanfea 2

C, AR R

» A FHITER

Y

VVVVYYY

iqo.cﬁﬁaﬁﬁaﬁaﬁ&mw%?

(A) EFX
(B) H=wHT
(C) Torers
(D) Fefif

191.E, A% g e defad 2

(A) E. A %1 Hrd1 21

(B) E, A% Il 2.

(€) E,LAFTHR

(D) Fraffa 7 fapt i1 Gt 2
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192. Which of the statement is correct ?
(A) Bisadoctor,
(B) Cis mother of F.
(C) Dis male.
{D) All above statements are correct,

193. What is the profession of A ?
(A) Teacher
(B) Doctor
(C) Salesman
(D) Lawyer

Directions : Select the missing number.
194. 5,12,36,123,7?, 2555, 15342
(A) 508
(B) 381
(C) 504
(D) 635

195. 0,2,?,12,20,30
(A) 4
(B) 6
(€) 8
(D) 10

Directions: Select the related word.
196.  Delicious : Taste :: Melody : ?
(A) Voice
(B) Highness
{C) Tongue
(D) Memory

197.  Income : Profit :: Expenditure : ?
(A) Loss
(B) Surplus
{C) Balance
(D) Sale

198. PAW : CAT :: HOOF : ?
(A) LAMB
(B} HORSE
(C) ELEPHANT
(D) TIGER

199.  If Pis taller than Q; R is shorter than P; Sis taller
than T but shorter than Q. Then who among them is
the tallest ?

(A) P
(B) Q
Qs
o) T

200.  There are 25 boys in a horizontal row. Rahul was
shifted by three places towards his right side and he
occupies the middle portion in the row. What was
his original position from the left end of the row ?

(A) 15™
(8) 16™
(€) 10"
(D) 12

31)

192 FH AT weT g 2 0
(A) BUH S 3y
(B) C, FHramr
(C) DR
(D) ToIes ot o wEt &

193 A s d 2
(A) 3eTT®H
(B) Sigex
(C) el
(D) Ffie
Fdwr - w e et
194.5,12,36, 123,72 ,2555 , 15342
(A) 508
(B) 381
(C) 504
(D) 635

195.0,2,7,12,20,30
(A) 4
{B) 6
©) 8
(D) 10
e wefirm wee @ e @)
196. Delicious : Taste :: Melody ; ?
(A) Voice
(B) Highness
(€) Tongue
{D} Memory

197. Income : Profit :: Expenditure : ?
{A) Loss
(B) Surplus
(C) Balance
(D) Sale

198. PAW : CAT :: HOOF : 9
(A) LAMB
(B) HORSE
(C) ELEPHANT
(D) TIGER

199.7f2 p, Q @ e &; R, P A BraT : S.TATmRAfTQd
TRIB A AR TR 20
(A) P
(B) Q
(€) 8
(D) T

200, & fth % 25 wreh & vger A 3w QAR s
AT & TR 3 R mar i e e § er i g
T ek % A B & swdh gt R 7 o

(A) 15"
(B) 16"
(©) 10"
(D) 12"

—
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